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2022 £ 9 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.042 0.008 &
LA i 1.512 0.031-0.739 0.100 =
/L4, (HCI) 4,545 0.045 - 0.179 0.122 =
mIbE (HF) 0.306 0.015 - 0.101 0.052 s
— &b (SO2) 15.147 0.076 - 5.310 2.383 =
—4&bi% (CO) 7.578 0.009 - 0.107 0.052 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.197 - 8.475 2.341 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.005 - 0.011 0.008 &
LA 0.756 0.067 - 0.175 0.100 =
/L4, (HCD 0.756 0.103 - 0.141 0.122 =
wAbE (HF) 0.072 0.045 - 0.061 0.052 s
— &b (SO2) 3.789 1.879 - 2.852 2.383 =
—&Ei% (CO) 3.789 0.029 - 0.073 0.052 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.606 - 3.075 2.341 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0055 &
IR R g ) 7.575 x 107 <5.884 x 1010 =
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Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.017 0.005 &
LA i 1.512 0.009 - 0.673 0.074 =
/L4, (HCI) 4,545 0.081 - 0.236 0.156 =
mIbE (HF) 0.306 0.012 - 0.046 0.029 =
— &b (SO2) 15.147 0.897 - 3.869 2.460 =
—4& kbR (CO) 7.578 0.001 - 0.148 0.021 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.334 - 8.755 1.656 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.006 0.005 &
LA 0.756 0.023-0.188 0.074 =
Z/LE (HCI) 0.756 0.119 - 0.213 0.156 s
wAbE (HF) 0.072 0.022 - 0.036 0.029 s
&R (SO2) 3.789 2.143 - 2.611 2.460 =
—&Ei% (CO) 3.789 0.009 - 0.043 0.021 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.832 - 2.601 1.656 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.005 &
IR R g ) 7.575 x 10°° <5.643 x 1020 &
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Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.004 - 0.121 0.009 &
LA i 1.512 0.022 - 1.286 0.094 =
(L& (HCI) 4,545 0.027 - 0.229 0.140 =
mIbE (HF) 0.306 0.001 - 0.086 0.051 s
— &b (SO2) 15.147 0.002 - 3.883 2.562 =
—4&bi% (CO) 7.578 0.000 - 0.167 0.050 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.676 - 11.832 1.848 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.005 - 0.026 0.009 &
LA 0.756 0.044 - 0.259 0.099 =
#F/bE (HCI) 0.756 0.078 - 0.174 0.140 s
wAbE (HF) 0.072 0.035 - 0.057 0.051 s
— &b (SO2) 3.789 1.940 - 2.958 2.547 =
—&Ei% (CO) 3.789 0.013 - 0.082 0.050 g
HAY (NOx)
DL=%AEE (NO2) 15.147 1.348 - 2.570 1.834 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.340 x 1020 &
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